17 16
A 20,825,259 21,813,221
B 20,563,998 21,583,822
C=A-B 261,261 229,399
D 191,570 110,447
E=C-D 69,691 118,952
F 49,261 27,989
G 60,700 74,315
H 0 0
I 344,700 142,900
J=F+G+H-1 333,261 96,574




11,728,999 + 12,242,723
22,562,303 22,381,087
6,796,020 7,270,453




8,385,568 8,307,914
1,579,477 1,500,723
2,284,327 2,064,777
441,374 572,301
520,620 810,857
2,896,610 2,529,114
950,073 930,712
2,270,668 3,242,600
1,496,542 1,854,223
20,825,259 21,813,221




5,367,760 5,298,992
2,743,094 2,551,588
2,507,764 2,415,895
2,488,339 2,473,936
239,779 260,240
755,885 1,010,704
356,752 362,608
8,028 7,200
1,913,481 1,985,368
4,183,116 5,217,291
20,563,998 21,583,822




10,844,104 260
7,710,487 185
2,270,668 55

20,825,259 500
5,367,760 129
2,743,094 66
2,507,764 60
2,488,339 60

763,913 18
1,913,481 46
618,013 15
4,422,895 106

20,825,259 500

22,562,303 542
6,796,020 163







